
 

 
 

350 S. St. Charles St. Jasper, In. 47546 
Ph. 812.482.2932  Fax 812.634.6632 

www.ridetech.com 

 

Part # 11054499 
58-64 Impala Rear Lower StrongArms 

For Use with CoolRide 
 

 

Components: 

2 90000466 Lower control arm w/ air spring mount  

4 90001085  Poly bushing half – 1.5” O.D x 1.5” long 

4 90001086 Poly bushing half – 1.5” O.D. x 1” long 

4 90000467 Bushing sleeve – 2.5” long 

 

Hardware: 

4 99621005 5/8” x 3 ½” SAE Gr.8 bolt  Lower arm 

4 99632002 5/8” SAE Nylok  jam nut   Lower arm 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 

Installation Instruction 
 

1.  Raise and support vehicle at a safe and comfortable working height.   
 
 
 

 
 
 
 
 
 
 
 
 

2.  Fasten the lower StrongArms to the frame 
and axle using the 5/8” x 3 ½” bolt and Nylok 
nuts supplied.   
 
3.  Thread the 3/8” x 3/4” bolt with washer and 
lock washer about half way into the air spring.  
Slide bolt into slot on lower arm and tighten. 
 
Note:  Do one side at a time to keep axle 
from rotating.  


